FORM FOUR CLUSTER KCSE MODELS
PHYSICS PAPER 3 ANSWERS

a) ) I=05+0054 (1mk)
pd=250+02 ¥V (lmk)

() Emf.E=30V+02V+ (Imk)
b)

Length 100 |70 60 50 40 30 20

Current(A) | 050 1060 | 065 070 |075 |080 |090 | +0.05 | 3mks
P.d(V) 250 [230 [225 [215 [210 [200 190 | +02 |3mks
e-v(v) 050 070 Jo075 [085 |09 100 |110 1mk

Current —correct values award ¥2x6=3mks
P.d (V)-correct values award ¥2x6=3mks

@) | Gradire =)
Y,
10-0.5_05_ ;6702
08-05 03

Correct extraction V correct substation Y correct Answer and unitsy 1V
N/B: No line no slope.
(111) E=V+1Ir
r=gradient/slope v
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- Axis labelled with units

- Simple uniform scaleV

- At least 5 correctly plotted points W

- Straight line through at least 5 correctly plotted ponts
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© £0g=500 %0541

(&) @
Mass.m(g) 10 20 30 40 50 60
Distance di(cm) 3.70 7.00 |10.00 12.30 14.40 1640 [ £0.01 (3mks)
Distance d2 (cm) | 44.80 41.50 | 38.50 36.20 34.20 3220 ( £0.01(3mks)
Mass, (cm) x 4480 4150 | 3850 362.0 342.0 322.0 | V(Imk)
Distance d; (md3)
11) Graph
slo
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— l
§ ' l
Q. Ko 1 |
¥ e
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b
= ol ¥k 3 1o ly e
dl C”)

- Axis labeled with units (1 mk)

- Scale simple and uniform (1 mk)

- Atleast 4 correctly plotted points (2mks)

- Line through atleast 3 correctly plotted points (1 mk) Total marks 5 mks
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(1v)  Gradient

Ar
Y
_ Amd,
Ad,
_360—444
124-4
84
=-10
v 1 Evaluation
41 answer
Total mks
u(cm) v(cm) m="Y
20 60 v¥mk 3 Vv¥amk
30 30v¥2 mk 1v%mk
L ﬂz 15cm+ 2em
1+m 143
=Y =30 _isom+2emiivi
l1+m 1+1
15+15

=15cm=* 2emn

Average value=
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